Eureka Math

4th Grade
Module 6
Lesson 10

At the request of elementary teachers, a team of Bethel & Sumner educators met as a
committee to create Eureka slideshow presentations. These presentations are not
meant as a script, nor are they required to be used. Please customize as needed.

Thank you to the many educators who contributed to this project!

Directions for customizing presentations are available on the next slide.

@ @ This work by Bethel School District {www.bethelsd.org) is licensed under the Creative Commons Attribution Non-Commercial Share-Alike 4.0 International
@ License. To view a copy of this license, visit http:/fereativecommeons.org/icenses/by/4.0/. Bethel School District Based this work on Eureka Math by Comman

Core (httpogreatminds.net/maps/math/copyright) Eureka Math is licensed under a Creative Commons Attribution Non-Commercial-ShareAlike 4.0 License.



lcons

Read. Draw, Write Think Pair Share
Whole Class
Learning Target
Individual
D Personal White Board
Partner

Problem Set

Manipulatives Needed

Small Group

D] ] |
BEHOH®

Small Group Time

- —

o
’° = uency



Lesson 10

Objective: Use area models and the number line to compare decimal
numbers, and record comparisons using <, >, and =.

Suggested Lesson Structure

M Fluency Practice (10 minutes) -
M Application Problem (5 minutes)

Concept Development (35 minutes)
B Student Debrief (10 minutes)

Total Time (60 minutes)



| can use models and the number line to compare
decimals numbers, and record comparisons using
<,>, and =.



Decompose larger units

On your place value charts draw 2 ones.

2 ones= tenths. Show how many tenths are in 2
ones on your place value chart.

Rename the following:

2 ones 5 tenths for tenths

2 tenths for hundredths

2 tenths 4 hundredths for hundredths



X = . . .
Decimal fraction equivalence

Write the equivalence as a fraction and greater than
one.

5.2=

9.6=

10.6=

78.9=




o Rename the decimal

Write the decimal as a mixed number.
3.1

0.8

10.4

64.3



1 Application Problem

In science class, Emily’s 1-liter beaker contains 0.3 liter of water, Ali's beaker contains 0.8liter of water, and
Katie’s beaker contains 0.63liter of water. Whocan pourall of herwaterinto Emily's beaker without going
over1 liter, Ali orKatie?



D Compare decimals

Shade 0.15 on your area model template.
Shade 0.51 on another area model template.
Which one is greater? How do you know.
Here is one way to record the comparison

0.15 < 0.51: is there another way to record it?



D Compare Decimals

On the first number line label the endpoints 4.3 and 4.6

Label the other TENTHS that we can label on the
number line.

Plot 4.50 and 4.38 on your number line.

Which decimal number is greater? How do you know?



D Compare Decimals

6.24 5.24

13.24 13.42

0.48 2.1

217 2.7

3.3 3.30

7.9 7.09

8.02 8 2/10

5.3 5 ones and 3 hundredths
5.2 52 tenths

4 ones and 6 tenths 4 ones and 60 hundredths
2.31 23 tenths




Problem Set

12345 8 Problem Set

A STORY OF UNITS Lesson 10 Problem Set m

Name Date

1. Shadethe area models below, decomposing tenths as needed, to represent the pairs of decimal numbers.
Fillinthe blank with <, >, or = to compare the decimal numbers.

a. 0.23 0.4 b. 0.6 0.38




Debrief

* Compareyourarea model for Problem 1(d) with
your partner's area model. Explain why itwas
possible to shade both models without
decomposing one to hundredths.

*  Findan example onyourProblem Setwhere a
decimal numberwith only three digits hasa
greatervalue than a decimal numberwith four
digits. Explainwhythisisso.

* Duringour lesson, we saw that0.27 islessthan
0.7. Explainwhythisisso. How can looking at
the numbers quickly instead of considering the
size of the unitlead to mistakes when comparing?
How can we rename 0.7 to compare it easily to
0.277 Which model helped you compare
numbers mosteasily? Was iteasierto represent
particular problems with certain types of models?

* How didthe Application Problem connect to
today’s lesson?



Exit Ticket

A STORY OF UNITS Lesson 10 Exit Ticket m

Name Date

1. Ryan saysthat 0.6 islessthan 0.60 because it has fewerdigits. Jessiesays that 0.6 is greaterthan 0.60.
Who isright? Why? Use the areamodels below to help explainyouranswer.

0.6 0.e0




